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INSTRUCTIONS TO CANDIDATES

Thix paper consists of EFGHT questions.

Answer FIVE guestions inthe answer booklet provided

Al yrestions cavry equal marks.

Maxcimum marks for each pare of @ question ave as indicated
Candidates should auswer the guestions in Englivh,

This paper comsists of 5 printed pages.

Candidates shoold check the question paper to ascertain that
all the pages are printed as indicated and that no guesfions are missing.
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Highlight four disadvantapes of survey research. {8 marks)

The following mformation was obiained from a given financial institution. Lhe
information refers to the loans given out in 1990 to several firms, 1se the information

to caleulate the mean and standard deviation for the loins. (12 marks)
Loan LHOD - 1200 | 1200 - 1300 | 13060 - 1200 | 1400 - 1500 ( 1500 - 1600
Firm ) 9 14 | 5 7

Explain the following types of sampling:

(1) Purposive sampling: (2 marks)
(1} Quota sampling; {2 miarks)
(i} Snowhall sampling; {2 marks)
(v}  Judgemien sampling. (2 marks)

the following data relates to a given stock item nsed by 2 manufactunng him:

Normal usage 5600 units per day
Minimunm usage 2440 ynits per day
Maximum usage 710 units perday
Lead time 15 - 20:days

EOG 10 006 units

Lising the above data, calculate’the lollowing various control levels:

{1} Reorder level; 2 marks)
(11} Maximum stock level: {3 marks)
(i) Minimuwm stock level (3 marks)

Acompany wses LO0,000 units of 4 certain material per year which cost Ksh 3
ench. Carrying costs are 1% per month and ordering costs are Ksh 250 per otder,
Calculate EOQ). (4 marks)
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A mechanical engineer went to inspect the working conditions of these engine parts.
Caleulate the probability of having the following outcomes,

(i) Only one engine part aperating, (2 marks)
i) Twoengioe parts are operating, 2 marks)
{iaiy  Adl the threc parts are operating {2 marks)
i1v}  No part is operating. (2 marks)
iv) At least two parls arc operating. (2 marks)
v} Al most fwo parts-are operating. {2 marks)
Explain four functions of & cash flow statement. (8 miarks)

Dhfferentiate between the following paics of terms:

(1} Point estimator an interval estimator: (4 marks)

i) £-test and (-test, (4 tmarks)

The blood pressure PmmHyg) and the ages, t years, of 7 hospital patients are shown in
the table below:

Paticni A R @ [B) E 53 G

Aget years) 42 74 45 AN St 26 &)

Pmmiiz o8 303 120 i 182 RO 135
Calculate the Product Momént Conelation Co-etficient fom (he data and give the
Toierpretation of the comelation co-elficient calculated. {12 marks]
Briefly explain the four components of time serics. {8 marks)

(1] A company X deposited ksh 8000 into-an account, paying 7% annual interest,
compounded quarterty. Caleulate the number of vears it shall take to eam an
amont af Ksh 12,400, {5 macks)

—de A project costs Ksh 1000, with a three year cash Qows of Ksh 500, Kh 300 and

Ksh 800, respectively. over the next three years: The required rufe of return is
8. Calculate the Net Present Value (NPV) of the project. (6 marks)
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The following table shows the levels of gratity benefits given o a group of mapping
assistants at Kenva National Burean ol Statistics.

Gratuity benefits
Ksh 00K

Number of mapping Sl 6o R i) 52 40 11
assistants TVIEAD

J0-20 | 30-39 {40 -49 | 50 - 59 |60 - 69 | T -T9 | 80 - 89

(1} Determine the interquartile range for the above data. (8 marks)
{1y Determine the minimem value for the top ten per cent (10%). {4 marks)
(fii)  Determine the maximum value for the lower 40% of the geatuity: (4 marks)

A small college in Kotun County has 40 students in the Diploma in Social Work class.
16 of the students are men while the Test are women, One morning. 14 of the woemen
went to the college wearing mini-skirts while one quarter of the male stedents turned up
in Jong trousers called, “T can’t reach down™.

A student was selected at random from the social class. Caloulate the probability that
the student selected was:

() amman but did not wear the, ©T can’t reach down®, long trouser.
(1} & woman and wore a mini skirt.

(4'marks)
Explain the following terms 2s commgonly used in statistics] calenlations:
(1) Class limits; (2 miarks)
i)  Class boundaries; (2 marks)
{iii)  Class mid pomls; {2 marks)
(iv)  Class interval, (2 marks)

The data below shows the exports of manufactared goods of 2 country during the years
1980 to 1986

Year [ GRD 1981 | 982 1933 1984 1985 986
F'..‘Lpﬂrt (toms) | O - 20 [ 20-44 _dﬂ-ﬁ-ﬂ G- 80 | B0 - 100 100 - 120] 120 140
No of export 6 18 32 48 2 13 2
Calcalate the:
(i) myode;
(i)  medan.
{12 marks)
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